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EQT WS
BIE f(2). R gl) WL

f(x) x g(x) =1 (mod z"*)

W
A(z)B(x) =1 (mod z™)
A(@)C(x) =1 (mod z%)
A -

A(z)B(z) =1 (mod z?)
= A(z)(B(z) — C(z)) =0 (mod z%)
=B(z) - C(z) =0 (mod %)
=(B(z) — C(z))*=0 (mod z")
=B?*(z) + C(z)? —2B(xz)C(r) =0 (mod ™)
= A(x)B*(z) + A(z)C(x)? — 2A(z)B(z)C(z) =0 (mod z")
=B(z) + A(x)C(z)> —2C(x) =0 (mod z")
= B(z) = 20(z) — A(z)C(z)* (mod z")

A=A 2 AR A AT S SIS AW ITA R

—M 48 FFT LIk

R A{glie l,n-1NnZ}, H fo=1, FANEA fi = Zizl fi—;9;
KAfilie0,n—-1NZ}

" F(x):ZZOfixiaG(x)zzz ogz , Hgo=0

Z Z fjgk‘ = anj
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=F(z)G(z) = F(x) — (mod z™)
=>F(x)51_fé(x) (mod z™)

=F(r)=(1-G(z))™' (mod z2™)
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2 n REI f(2) Flm REWGC g(), K n—m RZTE h(x) F—F m -1
RZTE r(x), WAL

f(x) = g(x) x h(z) +r(x) (mod z"*)
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[F] At R LA 380 8 R 3 fR A -

$G) ="
5 P

f(a) = g(@) x h(z) +r(z) (mod 2"

D)X h(2)+r(2) (mod a™)

=f(2) = g

=" f(x) = 27™§(x) x 2™ "h(z) + 2" "F(x)  (mod z"tY)

=f(z) = §(z) x h(z) + 2" ™+ ¢ (x) (mod 2z")

=f(z) = §(z) x h(z) (mod z"~™*1)

=h(z) = J;Ei)) (mod x

TRALLERH h(z), ZJEA:
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F(g(e)) =0 (mod 2™*)
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=9 =9go — }IZ,((‘(;Z)) (mod z™)
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Xi(w) = 1120 (x — )
Xr(x) = H?:Lgprl(x - xz)
A

5] n
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M =AU = (M - A)7 =0, AFSHAY det(AM - A) =0

W f(A) =det(A — A), W] f@2—" kR, FE {Af(A) =0} Bk kB DRHEE
TR f(2) Fi f() = [T, (x — ) KR

R4 Cayley-Hamilton I, 17 f(4) =0, Hp O BEFHiME
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9.5 HEZXZE
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Lt Pa)y = Q)
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By = u(w)e /PO

Ay _ 4 p@n _ ) p(g)e S P@e

dr dz
:%e* JP@d _y(z)P(a)e” /PO 4 P(a)u(z)e I PO = Q(a)
:}% _ (l’)ef P(x)dx

é/du =C —|—/Q(x)ef Pl@)dz gy,
su(r) =C +/Q(m)ef Pl@)dz gy,
=y =¢ JP@de (C +/Q(x)ef P(I)dzdx>
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11 8% FHIE

11.1 X

% + P(x)y = Q(z)y" (n ¢{0,1})

11.2 k@

fEn =0 [EHE, IBLECH T —FR&EHE

fEn=1 [, B T —MIEFR& R E

B %+ Pa)y = Qx)y" = y "% + P(x)y' ™ = Q(z)
S Ly B 2 9] (1 )y

HTHEL—n, 3N z=y'"", WA E=0-—n)y "%, RNFLAH:

y*"% + P(z)y'™" = Q(z)
i;% +(1—-n)P(x)z=(1-n)Q(x)
:Z—; + Po(2)z = Qn(2)

RGN T —MrE& TR, ALK AT LIS A

y — = J(1=n)P(z)dz (C + /(1 . n)Q(x)ef(ln)P(m)dmdx)
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12.2  P(x),Q(x), R(z) REDEANERA 0
TCAELA R =Ff, ¥ EESBEARE:

%, = P(x)y* = y’dy = P(z)x
W Qi = 2~ Qs
% = R(z)dy = R(z)dx
12.3 % = Q(z)y + R(z)
LY —MrgiE e
W — QU+ B
12.4 3 = P(a)y? + Q(x)y
OB S oe bk o
% = P(2)y* + Q(z)y
12.5 % +ay® = b
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4 oy = az, NERATUMA A 2 + y? = ba™
Bm=0R[, f:

Mm=-2H1, KXz=zy, f:
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dz _ ydztady _ dy
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